
Pos. 12

Pos. 13

Pos. 14

Pos. 15

291020 TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

Assembling Instruction & Parts List
#44852

Item No. Scratching Post Colour Height 

44852 My Kitty Darling grey/pink 90 cm

Pos. No. Description Measurements Quantity Item No.

Pos. 1 Bottom plate 27.75 × 1.0 × 15.0 in.  
(700 × 20 × 380 mm) 1 44852-10

Pos. 2 Cave 14.25 × 12.0 in.
(ø 360 × 300 mm) 1 44852-11

Pos. 3 Lying plate 23.75 × 1.0 × 15.0 in
(600 × 20 × 380 mm) 1 44852-12

Pos. 4 Tower 14.25 × 15.5 in
(ø 360 × 390 mm) 1 44852-13

Pos. 5 Lying plate 14.0 × 1.0 in
(ø 350 × 20 mm) 1 44852-14

Pos. 6 Post 13.75 × 12.0 in
(ø 90 × 300 mm) 1 4485-30

Pos. 7 Post with spacer bolt 3.75 × 12.0 in.
(ø 90 × 300 mm) 1 4485-31

Pos. 8 Post with flag, plus 2.0 × 22.5 in.
(ø 50 × 570 mm) 1 44852-32

Pos. 9 Bed padded rim ø 15.75 in.
(ø 400 mm) 1 44852-40

Pos. 9.1 Bed - cushion 12.75 in.
(ø 320 mm) 1 44852-41

Pos. 10 Cushion 13.5 in.
(ø 340 mm) 1 44852-42

Pos. 11 Kerchief, rustling 5.5 × 14.0 in.
(140 × 350 mm) 1 44852-50

Pos. 12 Countersunk screw M0.5 × 1.5 in.
(M8 × 35 mm) 1

44852-60

Pos. 13 Countersunk screw M0.5 × 2.0 in.
(M8 × 50 mm) 1

Pos. 14 Countersunk screw M0.5 × 4.0 in.
(M8 × 100 mm) 1

Pos. 15 Thread rod M0.5 × 3.25 in.
(M8 × 80 mm) 1

Pos. 16 Inbus 0.25 in.
(5 mm) 1

E	This product should be assembled by an adult.


